ST\ =
A T

7 IERTR

/=5
L N 7 4 < TREHIRAT  GEMfrAE)
5 4 B NG LR 2 i — S R RIS I B L (=4t Cf
N 4;
- — e 1 = oo | o | BERREAN | N (T
P R A 2% n%ﬁiﬂa_\@ & CRANEE 'S¢ G )
1@‘, F
1| BRI (LD RN, BESGFA f 1 26000 26000
I 1\5‘
2 WA & iR SC06 =) 1 1000 1000
3 To4 37 e A iR MCO3 =) 1 500 500
4 A YR ECRUN SS33B = 1 1000 1000
5 ZIRERIT G 7T YH-DD215/ & 1 28000 28000
S———
6 | TSI LEBERA i YH-501/A 1= 1 157000 | 157000
UM )
Sr——T—
7 | BESILZAZRE( SR YH-501/B = | 40 14600 584000
Ca D)
8 2B s J185-2 = 1 12000 12000
9 ARZE L FHYIEINL i HX1512 & 1 45000 45000
B CADHR AL LI V10.0 = 1 10000 10000
A K CD91200 =] 1 6000 6000
4 HBEIR 165 biad ibreiall %= 1 515500 515500
13 ERIEEGLIN 165 biad ibreiall =] 1 123000 123000
14 AL L H =R 1] TR 2 i) ik 7 1800 12600
15 T ) 22 1] g breksl A 8 1600 12800
16 8y7) K& 11~f it 50 45 2250
17 Mk A [t {0 50 350 17500
18 MEANE kY 165/84 0 50 800 40000
— BB ) i T -
19 BB (b= o) Foa Jack-A10+ & 50 6700 335000
#A_‘
20 PRLERIR LI £ AT Jack-C10+ & 8 8480 67840
421

4




21 s T i) ik ] 5 1 a 36 680 24480
22 ET4nAL 7N JK-T1903 = 1 36000 36000
23 EEBEDI! A¥ mlﬁ s 1 288800 | 288800
24 5 X% N *{% J*JKﬁE) =) 1 147600 147600
25 SRR AL *%J JKI{?%%)A & 1 66700 66700
26 BEL AN "“:%ﬁééfiggng(ﬁm = 1 22800 22800
27 H SR A JK-T1790GS =) 1 27000 27000
28 TERERL A7 JK-T3520 = 1 48800 48800
29 FEL I 5] S A R AL AT JK-T98206 &) 1 61000 61000
30 #7 e i) 52 1) A 60 70 4200
31 AL A M650 = 2 6000 12000
32 FTENHL e 264dwi i = 2 2600 5200
33 BE P4 DSPPA DSP6064D H 4 1300 5200
34 oV H T DT DSPPA DX1000 = 2 3600 7200
MR DSPPA D5821 &) 1 3000 3000
PhR En Y AT10 ik 1 1850 1850
37 PR M55 2 Vi ik ] 5 1 Tl 1 80000 80000
38 CRE AT MO i) g i) 72 ) 81 1 150000 150000
ait

LRI A PR (Al FE 725 e BN 7 A 2

R MNRNBEIMERIEN (DA TER

H -

2024 Fol

H

16

)




